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Part-Part-Whole Model

Complete the model for the given scenario. Then complete the number
sentence.

Leo bought a cheese sandwich for $9. He paid $50 to buy the sandwich. How much
money should he get back?

O O

Maria was arranging the books in the library. She kept 36 books on the bookshelf. After
sometime, she kept 13 more books on the shelf. How many books are there in all on the
shelf?

O O

Emma bought 45 flowers. After sometime she bought 23 more flowers. How many
flowers did she buy in all?

O O




